L

[ 3
ManufaActuring JD Combine Toolhox Installation (PN: 1523)

1. Remove the left hand platform step from the combine.

2. Attach the mounting brackets and back up plates to the lower holes of the toolbox using four 3/8" x 1" carriage bolts and flange
nuts. The two mounting brackets with spacers welded to them go on the outer two mounting locations. See Picture 2 for
clarification. Hand tighten only. See Picture 1 for which inner mounting holes to use, based on the combine model it is being
installed on. Be sure the backup plate is oriented so that it covers the top hole of the mounting pattern not being used (Picture 2).
Use a 3/8" x 3/4" carriage bolt and flange nut in other open hole to keep the backup plate tight to the tool-box.

RN i
Z X\

S6X0/S7X0 9X50, 9X60 & 9X70
Mount Holes Mount Holes

Picture 1
(Rear View of Toolbox)

Technical Support Phone: 1.800.328.1752 / Website: www.tractorseats.com



L

", Installation Guide
Manufa‘ctu..i“g JD Combine Toolbox Installation (PN: 1525)

3. Place a 3/8" x 1" carriage bolt into the top, front and rear mounting holes of the toolbox.

4. Lift the toolbox and slide the bolts into the mounting holes on the combine. Start flange nuts onto the two bolts to secure the
toolbox.

5. Install two more 3/8" x 1" bolts into the inner two mounting holes through the combine frame and fasten with 3/8" flange nuts.

6. Install the four mounting clamps onto the toolbox mounting brackets using four 3/8" x 1" carriage bolts and flange nuts (Picture 2).
The clamps will tighten on top of the combine’s channel frame.

7. Tighten all hardware.

Mounting Clamp (4 Total)

RH Mount Bracket

with Spacer RH
3/8" Flange Nut ¥ Mount Bracket LH
(13 Total) Mount Bracket
/o
S

" .~ Mounting Hole
.’ covered

yd LH Mount Bracket
v with Spacer

Backup Plate

(2 Total)

3/8" x 3/4"
Carriage Bolt 3/8” x 1” Carriage Bolt

(12 Total)

Picture 2
(Toolbox Cover Not Shown For Clarity)
(S6X0/S7X0 Mounting Orientation Shown)

Technical Support Phone: 1.800.328.1752 / Website: www.tractorseats.com





